library(mix)

library(car)

mix.imps <- function(dset, nimp, outname) {

n <- length(dset[,1]

npbrkmr <- recode(dset[,9], "4=1; 5=2; 10=3")

dsub <- data.frame(npbrkm=npbrkmr, dset[,1:8])

dnames <- names(dsub)

dsub <- as.matrix(dsub)

s <- prelim.mix(dsub, 1) 

thetahat <- em.mix(s)

rngseed(round(runif(1, 1, 1000000000)))

newtheta <- da.mix(s, thetahat, steps=1000)

temp <- data.frame(imp.mix(s, newtheta, dsub), impno=rep(1, n))

write.table(temp, outname, sep=",", na=".", row.names=FALSE, append=FALSE)

for(i in 2:nimp) {

rngseed(round(runif(1, 1, 1000000000)))

newtheta <- da.mix(s, thetahat, steps=1000)

temp <- data.frame(imp.mix(s, newtheta, dsub), impno=rep(i, n))

write.table(temp, outname, sep=",", na=".", row.names=FALSE, append=TRUE, col.names=FALSE)

}

}

mix.imps() is much the same as the function I wrote for mice(); it just makes running the imputation a bit easier.  The trick here is that your categorical variables must come at the beginning of the dataset (any order), and must be coded 1-2-3-etc instead of any 0-1 or 4-5-10 (in my case).  I have only one categorical variable, but I’ll describe how to add more.  Here’s what you’ll need to change in the function:

npbrkmr: This is my categorical variable; I’m recoding the 9th variable in my dataset (npbrkm) to the categories of 1, 2 and 3.  This must be done for every categorical variable in your dataset!

dsub: rebuild your dataset here, with the recoded variables in the front.
s: the second argument is how many categorical variables you have at the front of your dataset.

At the end, this function behaves like my function for mice(); give it a data frame, the number of imputations you want and an output file name (csv), and it’ll run your imputation for you.  Just change the places I’ve noted above to match your dataset.  My simulations have shown that this method works well for mixed categorical/continuous variables in a cross-sectional study!

